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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____./ Taddr (Gﬁ'ﬁ'%ﬂi) =i | |
SIS It B

1. Vision / ?@

2. Intelligence / Q@
3. Social interaction / JraToTD JUH

4. Body movement / IR iRt

Correct Answer :-

e Social interaction / JrATSTD JUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

ST AaeR fazayu A= & fore ue siftre guTdt SraRTers faftr ar=r s @:
1. Dyslexia/ f&xaifaRyan

2. GDD / SiiglSt

3. ADHD / TSIT=Sl

4. ASD/ TTHS!

Correct Answer :-

. ASD/ UUHE!

3) Which of the following is not true about the team teaching method? / A fRrgurugfa s an &

fFrafafea & @ o9 s T8 32



1. Difficulties are faced in maintaining harmony among team members / T & Jedl & o9 qre CRIlY REGE
T HfET3aN BT YT HAT TSal g

2. It is cheaper than other methods of teaching in terms of finances / g fog & deyf H fRreor & 3 fafat ot
I & T ]

3. Teachers get better opportunities for optimal utilization of human resources / HIHd TG1eE & garad ST
& for Rrere! & TgaR sawR firad

4, It is a highly flexible method of teaching in terms of scheduling/ﬂ?W—ﬁW%WﬁﬁﬁT&m
B TH fAd Tl R g |

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fog & dey | fRreur & 3 fafda
&I ga1 H I B |

4) Which of the following elements is there in problem-solving skills?/ fafsf@a s s an
HET- AR IR & 9w 8?2

1. only the steps to reach the goal / $ad A dH ITIEV?J%[ & TRO]
2. only the goal / Had d&d

3. only the problem / Had THXT
4. all of the above/ IURTGd IHt

Correct Answer :-

« all of the above/ IURTad gHT

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What

type of thinking is this? / T S=a1 HradT @ % 9f% a8 7 & @M & foe s g @, 4 9%
Hrar-fuar 91 +ft gl arfeu | a8 f5g ueR 91 9= 82

1. Meta-cognitive thinking / €T (Hel-HHTED) i
2. Egocentric thinking / Wahfad (GMaft®) fRidq

3. Abstract thinking / 31'11?? fefa

4. Psychotic thinking / ORI (TRPIcH) feid=

Correct Answer :-

« Egocentric thinking / Wdiad (TR ®) i

6) Learners learn best when / ﬁr&mﬁm 3BT qe dJrRaa % old



1. they listen to the teacher and obey all classroom rules. / CARIEICI I ﬂ:ﬁ 8 3R Parm o gyt i &1
UTeH Hd g |

2. they understand the lesson and write good notes. / CACLRED FITEI?[ % 3R 3= :h?.’ﬂ forad %I

3. they understand the relevance and are motivated to achieve the learning goal. / J IRl &f FITEI?[ % 3R
SIfATH & T I U v & o IR B B

4. they follow all rules and are quiet in class. / 3 G4 AT &7 UTe Hd & 3R Ham H 2id | 8

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / J U 1 THed g 3R
ST & & P UTd R & forg IR g1 6

7) The seat of Intelligence in human brain is . | 9THa Af&Tss Tg’@ BT IS gl
1. Brainstem / STCH
2. Cerebellum / 3THRTSH (TREeTH)

3. Cerebrum / THRTSH (@m

4. Spinal cord / HSGUS (W13 HI8)

Correct Answer :-

. Cerebrum / YHIRTSH (@m

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

el ufafsarsit 3R S saasR &t e & forg Fafafea # & -1 9 31 afie 372
1. Punishment / €8

2. Praise / U=

3. Ignorance / S{IITT

4. Strictness / Il

Correct Answer :-

e Praise / U0

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /



STYRU 9] b AdeR Jdadl gawref & e i Iu=aR & fore smdik ur fog fafer
ST AN fhaT ST 82

1. Survey method / Faefor fafdr
2. Case study method / HYg el fafy

3. Observation method / fteror fafdr
4. Experimental method / TANTI fafd

Correct Answer :-

« Case study method / &Y el fafd

10) Which approach believes in teaching reading based on sounds? / Gl & SATYR W US-

UTeH H P AT e RhI0r Ay vt 32
1. Analytical / fa=eivoIT&e

2. Syllabic/ eI

3. Global / Tierdd

4. Phonic / ®IfA®

Correct Answer :-

« Phonic / BIfA®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR,

T 3(UA WY F ol B a3 ST A R TP &
1. Five years/tﬁaaﬁ
2. Two years/apfa'ﬁf

3. Four years / dIR ¥
4. Three years / GIBEL

Correct Answer :-

e Three years / GIEK:L

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/



THRIHD SFHAT & T HHRIHD TG IE@ & forg foredt safda 1 ughxi &1 qvi7 34 7 fovd ug &1
SUHT far wrar 82

1. Rehearsal effect / anarg guTd
2. Retroactive effect / tlﬁTDEITd)[ UHId
3. Lightbulb effect / dlgcded UHIT

4. Pollyanna effect / QIeiTaT Tt

Correct Answer :-
» Pollyanna effect / ISR

13) What type of memory is sometimes referred to as nondeclarative memory? /

fra TR & Wfa #) Fi-FuUR sratvurere Wfa & U A W1 S 82
1. Autobiographical memory / STEART (SHCaRRnhad) F{ﬁ‘f

2. Factual memory / d[HD F:ﬂ%l

3. Short term memory/aﬂ-?ﬂ?ﬁ:[ F:ﬂ%f

4. Procedural memory / Ufhardd Fﬂﬁf

Correct Answer :-

e Procedural memory / Ui ards “\Hﬁ

14) An assessment that is carried out throughout the course is called ./

q€ AT ol X Uoushd S R fpareirar e, Pearar gl

1. Formative assessment / XdATHD H[h
2. Summative assessment / WW
3. Diagnostic assessment / WW

4. Initial assessment / YRIH® HTHdT

Correct Answer :-

o Formative assessment / IIATHD HTh I

15) Which of the following is not a form of bullying? / Frafafaa # S #1991 seu=ht &1 T &Y g1
82

1. Teasing other children / 3= CEIEDl 33 Al



2. Pushing other children / 310 Sl ol Ydehl ol
3. Mutual exchange of lunches / &9 &1 URTRSB Sadl-aga

4. Insulting other children / g@li’ Sl DT YA HRAT

Correct Answer :-
 Mutual exchange of lunches / @ D URTRS SHaell-agal

16) Which of the following clinical procedures are based in part on classical conditioning?/

fFafafEa & @ $i9 W@ A= uftean safiea S w sneid @2
1. Token economy / GG _&"aﬂ:ﬂlﬁf
2. Two chair techniques / ¢ PR dDHID!

3. Transference/ RITATIRT
4. Systematic desensitization / TG ﬁﬁﬂm

Correct Answer :-

 Systematic desensitization / afeyd ﬁﬁﬂw

17) Which chromosome is responsible for determining that the child is born male? /

B 91 UREA g Fufva w3 & forg Iaverd! gar @ fob a=n R Ger gen &2
1.'Y chromosome /'Y TURE
2. C chromosome / C TJ0RIA
3. L chromosome / L T[URIA

4. X chromosome / X T[UIJA

Correct Answer :-
* Y chromosome /Y T[UIRTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be

diagnosedwith?/mmﬁﬁqﬁmm%mmmwwaﬁﬁmqﬁ
3, a1 39 fru Fefia foran s w82

1. Learning disorder / 3f&TH fdepR
2. Communication disorder / GaR fdBR

3. Mental retardation / ATARIG Hedl



4. Intellectual disability / STfad A&

Correct Answer :-

« Learning disorder / 3O fd®R

19) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ Th T Uh Q’\‘ﬁ a¥yq
B WIS A1 2, 98T 3 Ued 39 g RIH W A WH F a1¢ oft ura &1 98 =i Q Tefra
Hrrsif & SR G@T ST B |

1. Attachment/ 3FJCTU® (3ICTHT)

2. Egocentrism/ e ( m@m)

3. Conservation/ GX&UT

4. Object permanence / 9] T

Correct Answer :-

» Object permanence / d¥] T

20) Who developed a Psychosexual theory of human development from infancy onward? / AT

A4 I o1 e T Rigid e faefa faar
1. Erik Erikson / Qﬁ?ﬁ W

2. Piaget/fﬁ’tﬂﬁ

3. Sigmund Freud / R e

4., Vygotsky / CIEUIRIED

Correct Answer :-

 Sigmund Freud / R s

21) The concept of intelligence is more related to: | SfS® SrayrRUm m 3fYre Tefira 3:
1. Concrete thinking / ‘Cﬁﬂﬂ"lﬂfﬁﬂ?

2. Intuitive thinking / Gg fid=

3. Rational thinking / LEZSUGACGR]

4. Emotional thinking / HTd-TH® feid

Correct Answer :-



« Rational thinking / AHITd fid=

22) Rorchach ink blot test consists of / AT W’Iﬁ AR qﬁ&'l'UT ﬁl’H Jd g1 'Eﬁ?IT %:
1. 10 black cards and 5 coloured cards10 / BT U<l SﬁT 5T T

2. 10 black and 10 white cards / 10 BT 3R 10 Ihe Ul

3. 5 black and white cards and 5 coloured cards/ 5 BTl 3N ﬂ'a’)_d' U SR 5 T o

4. 10 multicoloured cards 10/ EET"F[ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R ﬂ'a’)_d' U SR 5 T o

23) When failures are punished during childhood, it leads to WASC) B adre & ﬁl’E CELEE:]
ERFfEafraraTarg, @iag_ &l iR A ST B

1. Negative reinforcement / ThRIHD li"lqrﬂ"l

2. Encouragement / Eh_m:ﬂ%:f

3. Persistence / 80

4. Learned helplessness / 3feATH fagrar

Correct Answer :-

« Learned helplessness / 3ferT faa=rar

24) Maturity affects learning because it impacts -/ ufeuerdr SifeRTH & gyTfad St % Fife ag A=
W YT STed o:

1. Motor skills/ WP aﬁ?zm

2. Readiness/ ddddl

3. Cognitive capabilities/ IITTHD REGIE

4. Both motor and cognitive skills/ S HIeR 3R ITHTHD CARI

Correct Answer :-

o Both motor and cognitive skills/ G HieR iR TIHETHSD AR

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.



Which is the 4™ condition? /

TS R Rigid & AR, TUTH ATsiiT & i 4 smazas 3d g1
T, TURV AR Y A3 A 3 |

o =d w2

1. Situation / fRfd

2. Attraction / 3THYUT

3. Imagination / P ¢U-l

4. Motivation / OO

Correct Answer :-

« Motivation / DRI

26) Creating positive classroom culture falls under the domain of : /WEF&ITWI%TW
forafor fo &3 & siaefa smaT 8:

1. Social need / ITHTNI® HTTIEH ]

2. Affective need / HIATAHD TR D d]
3. Psychomotor need mﬂﬁwﬁ HARYhdl
4. Cognitive need /IRITH® ARG DH AT

Correct Answer :-

 Affective need / HIATHD A DH dl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /

Frafafad 7 S w1 gwadar U 31 # B adT & [T U6 YPRIAS db WLIsd & =0 | givfd
B Jbdl 82

1. Environment problem /ammﬂuﬂﬂw

o

2. Medical and Psychological Reasons/ﬁlﬁ??%ﬂ 3R H"I\Iaﬂll"lcb DRI

3. Difficulty in wriﬁng/@“@qﬁw

4. Lack of Motivation and Interest to put efforts / UHId STaH %%I'QW 3R B BT UG

Correct Answer :-

 Lack of Motivation and Interest to put efforts / UHId SINE %ﬁmﬂw 3R BT BT UG



28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

$o gral-fuar ey @1 saren 78 #3d € afe a2 3t fdt o Fiaa W 37T ureH w2 & forg
AOIgR HYd 2| 39 PR B e & e wu & S s 8:

1. Permissive Parenting / W e

2. Uninvolved Parenting / Srgafera e

3. Authoritative Parenting / 3MfApTRRE WfeT
4. Authoritarian Parenting/ Frardl U

Correct Answer :-

 Authoritarian Parenting/ rard! Ui

29) Studies in human development take into consideration the period from: / HIHd faera A
Y 3 3MafY P = A 1@ 8

1. Conception to adolescence / YT fhemRIaR
2. Birth to adolescence / 57 I forIRTaRAT
3. Birth to death / S J HRUT

4. Conception to death / Ty 3 g

Correct Answer :-

» Conception to death / iy 9§ g

30) CANCELLED

What is the full form of MBIT?/ THAI3TE ! &1 quf =q 41 32
1. Myers-Briggs test instructions / - fore oten A=

2. Myers-Briggs type of indicator / TRRI- o TR dhdd

3. Myers-Bricks type of indicator / A9 TSR ddhdd

4. Myers-Bricks test instructions / A forerd TRAed e

Correct Answer :-
« Myers-Briggs type of indicator / TRRI- 3 TR dhdd

Topic:- General Hindi (L1GH)



1) el Wl § QR dei
HEHS B PIAA ATl

foradt forert 3fa 1 ol

qidt 1 Ht Iereft wedt |

freiFRN TR

f&a gt ¥R & w@1 s,

TS Y T TR P gl

T4 ®1 =R e i waw |
Jwifra- et agen

At St A A aret,

IR WS I A B

fhfnforar & =ium=mmedt Issdt i+t derea T,
@, 3R 1A i I

raw ot e, Fiedt =it

T F Gail § et

&9 v Afeu 7R @Il

A ofeal dt deat
Fiferat, fyure e @<
et & ¥ Y1 1 foreredt

TN & ol IR g,

Ee f5vd &1 ot Wy

EEEEECIE LR

3T 7T URri=r ot ygH A g WM 91d U= BT 3@ 91|
UR: 9T & S A 99 [d TP STl A gl STell 1 Zd & df a1 v 82
1. & I YA MG 7|

2. 0 4@ & &

3. 99 9 IR oma|

4. 1Y J =M 9 B Tol SHI G |

Correct Answer :-

. O 3 G & el T8 WA R |



A FRVTR

fea efa 3R & 81 31,
TATH T W FHT g
T4 BT =R e i waw |
rifed- et agen
At St A A e,

3RER I DI A B

fBfp ol § um=Iert|
gl Wit dared T,

@, gRa T A 3T ¥
Frem #t o, Tt A
181 & gl | Rafha

T 8 WiEa He Wt
A ufeal |t deat
Siftrat, fsumg die @t
et & ¥ Y1 1 fereredt
T[T & ol IR g,

F f5vd g1 ot Wy

3§ IS gall & gl w1

T 7T veriwr & ygw T U WM 91d U= 3T 3@ 9a1s|
T Wl § R da 71 el g8 22
1. IR gS 7MY

2. TR gU TS

3. BT &1 AREH! dTeR
4. fadferai & s



Correct Answer :-

. R & IEHw! g

M FRVTFR

fea &fta R 8 o1 919195,
AT Y T TR FHT gl
T4 31 iR feda e v |
i3t ST agen
At St g A e,

IR TIg B A B

BT iorat § <vm=mert|
gt Wi darad T,

@, 3R 1A i I
e #t o, Trit A
181 & gl | Rafia

&9 v "feu aer @S|
A ofeal dt deat
Fiferat, fyure e T
et & ¥ Y1 it foraredt
TP ol R G,

T v 8 g v
EEEEECIE L

3T 7T URri=r ot ygH A g WM 91d U= BT S 91|
WEH: Figel-t Rt R B v vae AT wdia gar 22
1. g 1 arferar

2. P TRl



3. UGpfeard fard
4. foda e s

Correct Answer :-

. fee e st

feIFRETTAR

fea eRa ¥R B T e,
TS Y T TR FHT gl
T4 31 iR fda e v |
it et agen
At St A A e,

IR TS Bt A B
ffafort 8§ evmemett|
Il i daraa T,

a1, BRa wRT ¥ Fiw &
Frem #t o, TRA At
11 & gl A Ratha

£ ¥t Wi wer @
AEHe ufedt |t deat
Siftrar, furg fie @t
et & 41 Y1 1 foraredt
TS ol R Gy,

T v 8 g v

3§ IS gl A el W1

o U u=iRT 1 yew Y U@ 9H 91 WA 7 IR aarse|
w=: W-faeht forafert oo die ur st feedt 32



1. W& Bl R
2. Mg F I A

3. I91 & Wl o
4, R S PY W

Correct Answer :-
. T[S HAl R

TATH 4 T W FPT g
T4 31 iR foda e waw |
it eTdt agen
At St AF A e,

TR TS B WA B
fhfaforl § Tvmmed |
Il Wit dared Ty,

a1, BRa RT3 Fiw I
Frerm &Y o, TRf et
181 F wat | Rafia

T V8 WiEd He Wt
A ufedt |t deat
St Rsurg diw @t
et & 41 1 it foraret
T[N & ol i) g,

T v o ot v

3§ IS gl A el W1



3T T U=riwr 1 yg@ AR IS O a1 U &1 Ik Jarse|
TEH: HeX & 11 fraat avg fie w s ga @ #2

1. 3TH A BIs 18!

2. G- WA DI ARG

3. OIHM A HR &1 Re

4, S RIT gy &1 ofedl | oot fesor % 59 X6 8

Correct Answer :-

. O IRITT A d &1 0l & i feur aR ga <@l §
6) Telt Wl § R aa®
TEHE B HIAd A,
o fora 3fa 1 fpwol
aiet i Gt Iorelt weht ¢
PPN TR

fea Ra ¥R B T 9w,
TS Y T TR P gl
T4 31 =R el o wae |
Hifea-dT ST agen
T} S g & @,

IR TS I A B
BBt § =um=mett|
It Wi darad T,

i, gid T A i @
w5t o, diit el
11 & el J et

£ ¥ Wi wer @t
Ay afeal ot deat
Fiferat, fyure fiw |
et & ¥ ¥ 1 foreredt
TN & Gl IR v,



%o fhd 81 oot W

3 9 gal A gl W

3T U ueriwr 1 vew R U@ 9F 91 U 7 IR aarse|
7= foeTd & &R ¥ O IR T A T 22

1. g3 afrar

2.8 Bd

3. BRA 3R

4. g fegdtaa

Correct Answer :-

. BRADBMR

TATH T4 W FHT g
T4 BT R e i waw |
ifea-f et agen
At St A A aret,

IR TS I A1 B
BTt § =vm=ert|
gl Wit dared T,
@, 3R 1A i I
e 3t o, Trit A
181 & gl | Rafia
£ ¥t e wer @S
A ufeat ot deat
Biftrat, fsumg die @t



Ol § 1 1 1 feraret

T[N & ol W) gaw,

2 e & o vl

EEEEECIEECR

AT 7T UEriwr ot ygw A U WM 91d U= 3T 3@ 9a1s|
TR 39 Fiaar & fw W & Higd o1 avf= 32

1. ]G g

2. 99d g

3. 8Hd Bg

4. IS g

Correct Answer :-

M FR|VTFR

fea ea 3R ? @ v,
TATH T W FHT g
T4 31 iR e e waw |
ifea-ft Tt age
At St AF A e,

3RER G DI A B
ffafort § evmmed |
It Wit dare T,

@, g RT3 ¥



@ ufeat |t deat

Fiferat, fyure fiw @<

et & ¥ ¥ 1 foreredt

T & Gl IR v,

Ee f5vd & ot Wy

85 I gail | gl W

faT T uerizr 3t ugHR T gB W 9Td U= BT I« Jarse|
U= 9t & A pa fpa R F TR F e fem R &

1. e

2. QRIS
3. Tl

4. THG

Correct Answer :-

feIFRTTAR

fea eRa *fr B w3,
TATHE Y T4 W FPT g
T4 31 iR fda e waw |
it et agen
A} 5 g & @,

3RER G DI A1 B
fhfaforl 8 evmemet|
Sl Wit dare Ty,

@, gia eRT A i
rem Ft o, TRi At



TS pel | Rt
£ ¥t e wer @

A ufeal ot deat

Siftrat, foumg die @t

et & ¥ Y1 1 fereredt

TP Gl R G,

Ee f5vd 81 ot Wy

8§ I gall & gl w1

3T 1T wRri=r ot ygH A g WM 91d U= BT 3@ 91|
wA: forad anferat o o & eRelt Q=i & it @ I 8

1. $T9 9 PIs T8

2. Frft SR S o

3. Y 3R HaH o

4. SN AR A H

Correct Answer :-

. SISRAZH

AT Y T TR G gl
T4 31 iR fda e v |
iRt ST agen
At St g A e,

IR TS I A B
BBl § =Mum=mett|
It Wi darad T,



@, 31a eR1 @ i &

Frem #t o, TRit A

181 & gl J Rafia

T Ve WiEd He Wt

A ufedt |t deat
Biftrat, fsumg die @t
Ot & ¥ 31 1 fereret

[N S Hal IR gaw,

F fhvd g1 ot Wy

35 IS gall & gl w1

3T 7T u=riwr 1 veH R U@ 9F 91 WA o7 IR aarse|
ug: fPad fid B s dehia oy faer W)@ &2
1.5

2. TG &b

3. WAl &

4. REW D

Correct Answer :-

. TE P

11) Helt Wi d g aaP
HEH B PIAA AT,
fRradt R fa 9t ot
qidt Pt Ht Iereft wedt |
A FRVTR

fear 5t ¥R & w1 s,
TATH T4 W FHT g3
T4 ®1 =R e i waw |
Jwifra- e agen
At St A A are,

IR WS I A1 B
BTt § =vm=ert|



Isdt HiHT demed T,

1, BRa wRT S Fiw &

Frem Y o, TRt et

181 F wat | Rafia

£ ¥ Wi ner @<
wEHdt et it et
Siferar, fyure diwr @t
et & & it el

T[N & ol W) gaw,

o fthvd & g wad

EEEEECIEECR

o U u=riRT 1 vew iR U@ 9H 91 WA o7 IR aarse|
TT: 3RER 3R T TYUT B T 7D 961 & 82
1. U

2. A BT BR

3, fafesan

4, YT

Correct Answer :-

o HIYA

12) Teflt @l A @R a@®
AT B DA giardl,
forat foret 3fa 1 fpol
qidt Pt Ht Ierelt Sedt |
M FRVTR

fea g ¥R & @1 9w,
TATH T W FHT g
T4 31 iR e e waw |
ifea-ft Tt age
At St AF A e,



TR TS B A B

BBl § =um=mett|

gt Wi dara T,

i, gid eRT A i ¥

rem 31 o, TRA At

1 & el | et

T ¥ Wi wer @

A ufedt |t deat

Fiferat, fyure fiw <

et & ¥ Y1 1 foreredt

TP ol R G,

Fe f5vd &1 ot Wy

EEEEECIE L

3T 7T URri=r ot ygH A g WM a1d U= $T 3@ 91|
WH: 979 G Pt fohol quwdl § af fa 9 &1 vm gar 82
1. I Bl

2. 70 Q4 IS Tl

3. SR ot = it b Tt vt feam &Y

4. ST T TGO BT

Correct Answer :-

. SR fopft A =il o1 STt o fean 8

13) CANCELLED

Pt Aal A @R daP
TaHE P Hraa ghard,
forudt R 3fa #t ot
ATl Y 2t Ioreht sreft 1
A PRV TR

e sha SRR B wroe,
ATHS Y q TR FHT g



T4 &1 iR fAda e wee |
rifed- et agen
At St A A e,

IR WS I A B
BTt § <vm=Iert|
It Wi dared T,

@, gRa T A i ¥
e #t o, it A
181 & gl | Rafha

T V8 WiET He Wt
A ufeal |t deat
Siftrat, foumg die @t
et & ¥ 31 1 fereredt
TP Gl R G,

Ee f5vd 81 ot Wy

3§ IS gall & gl w1

T T vzt 3t ygdR T U@ WM 91 WA BT & Iarsy|
U: 3TH & US $I STell 9id) SR HF 3t fr Fieil & o1g 1Y 32
1. YA g

2. T3-S Sferdll ¥

3. URI BT

4, ARl |

Correct Answer :-

RS | A3 K

14) CANCELLED

Heft @l A gr dqD
TEHE B HIAd A,
foract forrst 3fa 1 ol
Tiet i Gt Iorelt weht ¢



frPlI F RN AT W

fea eRa +fr 8 e 3w,
TATHE Y T4 W FPT g
T4 31 iR feda e waw |
it eTdt agen
A} 5 A & @,

3RER G D1 A B
fhfafort 8 Tvmemett
Il Wit dare Ty,

<1, BRa wRT S Fiw &
Frem #1 o, TRA A
11 & gl A Rafia

£ ¥ A wer @
HEwe afeal dt et
Biftrt, fsume e @$t
Ot § ¥ ¥ Y feraredt
T[N & FHal ) gaw,

T frvd & o

3§ IS Il A el w1

3T U u=iRT 1 veH iR U@ 9H 91 WA o7 IR aa1s¢|
WRA: 3TH & §R Pt GG AN TR HAT 3R Hedt 32
1. AIGadI g

2. Frefguf

3. RIS

4. YTGATYO!

Correct Answer :-

. RS

15) CANCELLED
Foft @l A gr daH



aEHE 3 Hra ghard,
foradt forrst 3fa 1 ol
qiet Pt Ht Iereft wedt |
P FRVTFR

fea gfta R 8 o1 919195,
AT Y T TR FHT gl
T4 31 iR feda e v |
i3t ST agen
At St g A e,

IR g B WA B
BTt § <um=Iert|
gt Wi darad T,

@, 3R 1A i I
e 3t o, Trit At
181 & Fal A Rafia

&9 v "ieu aer @Il
Ay ufeat ot deat
Fiferat, fyure e T
et & ¥ Y1 it foraredt
T[T ol IR g,

Ee f5vd 81 ot Wy
EEEEECIE LR

T 7T uRri=r ot ygH A g WM a1d U= BT 3@ 91|
UL a%d $d 1 HIGHT A B HaTe 81 T 82
1. BT

2. B

3. feegdt

4. DIIA

Correct Answer :-

. DI



16) P IuTe F1 3AHTA P IuHIFT ot ToR H HrfieR 9 wrar 81 afe Iuiaar A8 81 af feft of
HI P KT T8 SR ST8T dP SUHITT & UfYPR &1 Hard & af SuHiaar o fRAfT gy & &t
SRAT | S9! TUIH & R 3T 3 gHTIGR $T ISIERUT & UHd § ol HH Toi-T dierdT § a1 I§ HH ol =
AP TR S a1 FIdl 1 SATGTaR HSTE 391 a1 F= 91 A fyamae $3d agg a1 90! 991d &1 $© 9uf ugd
fremadt ol 9a & A arel St AW $t HART st a1 gt afe smua it [t geeR | Remaa
P P iFUTH Dt gRN O T | ATIDT BT gHATR o1 P UST TN Al 3mu= Ht o1 & Ao fovan
BRI &t MUt uat gR T f 39 H fawa ot @A WA Y sarerar W ufear gt ® | st 9w 3t i § frem
grar @1 ot gafear wiferdt &1 glar 81 YRa § firdarae, Srarassl, S, $9 auF, 3nfe R Rt
T8 81 1960 & P A URd H SUHITT Sfigia- ¥ §U A1 1970 & % dF SUUITT figia »ad ieha
?@ﬁaﬁ?uzs&ﬁwﬁwﬁmﬁaml AP 7T & aul A IUHIET TrS-1 B T3 & doft | ISTE STan

|

fasparait iR Ja1 ugrarsi & A & ga-it e g <Rt i Iuviaansit & o St smars o™ & Ryar
3R HIT IXAT TS TIT UTI FS qUl P @9 FUY P IIG IWPR B 39P! W a1 F ford T1fera g4 ust 8k
3P IRV & U & 1986 H HogHR MR Tae (HIURT) Y AN frar T v Iuuia &! fHdl Iaurg &
IR | FE TSGR U BT TSR g1 81 3d VF ST @ of fhdl IdUTg & 9% TR Sragal o JR&m & IR o
SR} &1 ifrard a91d €1 T GET | SuHiadr Bt [t o Ieure &t @ien & o Sfa fAvfg a4 &
Teg frardt 31 st oft Saure & U9 W eiftrean a1 geu e aff sifvrard gtar 81 af 915 gprieR
THIRM F 34fRe Trel Hear § af STHTT TP RIFTad H ol 81 TH Iunlaar i fafi fawen 7 @
T BT TUPR a1 31 B3 ot fashar Faa ua 81 gis 9 98 B TPl 81 S U UTGH Bl H3 fdHeq oA
g1 39 SfUPR F AT ¢ F fAare a1 Sl & 9ia an] far srar 21

SR 38 7T T B ygHR A IR ¢ U= $T SR 9a1gu|

W SUHIGATSH & UTH HIT ST & SAATAT 3R DI AT TG odT UT?
1. YT ST

2. 3T ST

3. TR A B Gt

4. (U1 3fTaTel

Correct Answer :-

17) it ST =1 3RUTa HRP IuUiFT o IR & ynfiqR 59 Sirar 81 afe Suviear 7Y i <t fpedt ot
It o1 ifEre T8 g | Tl a IuUIFT & fUBR &1 JaTd § af Iuviar 3t fRAfa g § 8
STt 3OS augH & R Y 3 gHTHER H1 ISIERU A AP ¢ ol B aoi diadl g a7 I8 ST 5l 39+
P TR S I Hd! 3 | SATGIR TS 394 a1 Fed 91 § fydrae $vd agg a1 90! 9491d ¢ | $© 991 ugd
framadt Tl 99 & an arel gradt 9 3t fart st arg gt afe smua aft il geeR 3 Rremaa
H B fgaTed $t ghll A 9ea | ATUD! SHPT gHTER g1 Fa-1 UST gR1M1 IS 3 Hff ¢ | 9w foman
BT At ST et 1 b 21 H fAepA el M i Y sareraR i ufean g €1 gt oo $1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firarae, SraaeRt, e, $9 a9, fe R Rt
6 21 1960 & SRIP A URd | SUHITT 3igia- ¥ §U A1 1970 & /P dF IUNTT Sfigia- »ad feda
?ﬂ@ﬁaﬁwmf-—ﬁmﬁwﬁ@ﬁﬁawl AP g1 & gl F ITiTT WiTe-! Bt TS A aol A IBTA ST

|

fagrarait MR a1 ugrarsi & @ & ga-t e sRAgid <Rt i Suviiaamsit & U Sra-f 3mars 8™ & Ryar
3R PIS T ) I UTI P U] & @9 HIY &P FI¢ TRPR B TP @ A4 & ford F1fa 8141 usT 8k



TP URUITA & U | 1986 H HogHR WeaRM Uae (HIURT) B AN fHar T T IuHiaT &f fhdl Iarg &
IR H FE THBRY U BT ISR BT 31 3d UF ST @ of fhdl Iaurg & 99 WR Sragal i JRam & IR o
SHSRY AT ifard g9 €1 98t GuAr | SuHier & farsdt oft Saure #) wiieq ¥ ford Sfa fAvfg a9 o
Heq firadt 81 fpel oft Saure & % W siftreraw gevT ged o ot sifard glar 81 afe 91 g@er
THIRW & AP I1et Hear ¢ a9 STHITT TSB! RIGIIT HX THar 81 TP IuHiaar i fafia faseai 4 9
T o1 SAfUPR g1 81 H13 o} faghar Faa v € gis U= 7 H APHa1 31 I/ U UTeP P! B3 fdbey ¢
g1 39 SAfUPR F AT 35 F e a1 ) & 9ia an] fear e 21

SR 3 T TeIiRr B yed Y YD Y U= BT IR Id1su|
U= frarad) TRl aa | -3 Tar et <fe
1. @I

2. SIeg
3. HIATIR
4, qafean

Correct Answer :-

- gt

18) 3t IeuTg =1 AT HIP IuUIFT o IR & YrfigR a9 wirar 81 afe Iuviear 7Y g1 ot fpedt ot
I BT SifeTed 181 TR TGl a9 IUUITT & SATUBR FT Hard g ol Ui »1 fRufa geitg i st
SRt e TugH & R oY 3] gHTHER BT 3BV & AP & ol B aoi diadl & a7 a8 ST 5 3
AP TR FPS IS Bl 3 | SATGIaR HSTE 394 a1 F= 91 A fyamae $3d agg a1 90! 9914 &1 $© 9uf ugd
framadt Tl 99 | an arelt gaft 9 3 farst smuwt arg gt afe smuA waft il geTeR 3 Rremaa
oY o} fgurea $1 g1 ol Jaat A STUD! ITST gIER o1 Fa1 UST 11 A 3maA S ¢ & o e
B & ST et 1 b o1 A fypq aret @M 1R Y sarerar i afean gt €1 gt oo 3 88 & e
aren @ oft afear eiferdt &1 ghar 81 YR # frarae, Sraeer, SHRER, $9 a9, fe #1 R IRWRT
B 21 1960 & GRIP A HRd H SUHIGT 3figia Y% §U A1 1970 & /P dF IUNTT 3figia- ad fewa
?@ﬁaﬁwzﬁmnﬁwﬁ@ﬁﬁaml AP 519 & Tul § IUUIFT WMo+l BT T=T H Al & IBT 3T

|

fasharait ok Ja1 ugrarsi & @ & ga-it e sAgiY ft i Iuviaansit & ura St smars 8™ & Ryar
3R BT IAT TS TIT UTI FS qUI P @9 FUY $ TG PR B 3TP| W A1 F ford T1fera g4 ust ik
a®! URUITd & ¥U H 1986 H HogHR WICaRM Tae (HIWRT) $I AN fHar 111 te Iuiadr &I fHdl Iae &
IR H FE TSGR U BT TSR g1 31 3d UVF BT @ o fhdl IdUTg & 9% WR 3ragai 3N JR&m & IR o
SR} &1 fard a1 €1 T GE1 | SuMiadr $i [t off Iaure & @dien & i Sfa fAvfa a9 &
Heg faredt 31 fpeh oft Saure & Ao R sifraraw gevt gea g ot sifyard gtar 81 afe 91 garieR
THIRH F 4P Irel Hear & af STHTT TP RIPrad H Toar 81 e Iyl i fafia fawea 7
T BT TYPR a1 31 B3 ot fashar Faa ua €1 9is 9 981 B AHd1 81 S U UTGH Bl B3 fdHeq oA
g1 39 SfUPR B AT ¢ ¥ fAare a1 Sl & 9ia ar] fear sirar 21

SR &8 7T TR B UgHR A U T U= &7 S@R 9a1gv|
U B1S o fashar 7 Faa v & U= T B gParn?
1. duld

2. 918
3.4



4, qTHIA

Correct Answer :-

19) i} IeuTe *1 AT HRP IuUIFT ff IR & YnfigR 59 Sirar 81 afe Iuviear 7Y i <t fpedt ot
FI BT Sifred T8) FRI I W6l a9 IuUITT & SAfUBR T Hard 3 o) Iuviean #1 Rufd qoitg § w8
RN | 3P TUIM & R 3 3] gHHGR $T ISTER0N A UHd § ol B qoi-1 dierdl 8 a1 I8 HH- ol 30
% TR S I Bl 3 | TG (HSTE 394 a1 Fed 91 § fdae $3d a5 a1 I8! 9491d ¢ | $© 91 ugd
fremadt ol 99 & A arelt gadt AW 3t fart smuwt arg gt afe smua it {5l geeR I Remaa
H B fgwTea 3t ghfl A 9ga | ATUDT SHPT gHaER g1 Fa-1 UST gR1T1 FfE 3Ma Hff ¢ | 9w fowan
BN 4t 3MU! uar g 6 21§ e ara @ iR &Y sarerar A wfear @)t 81 agt 9w @1 8 A frem
grar @1 ot gfear siferdt &1 giar 81 YRA § fAdarae, SraaeRt, SHER, $9 a9, fe Bt QR IRt
T8 81 1960 & XP A URA | SUHITT 3figia ¥ §U A1 1970 & /P dF SUUTET Sfigia- »ad fdhda
?@ﬁsﬁ?mhﬁmﬁwﬁ@ﬂﬁam AP 51 & Tuf A Iuviear Wre-l &) T=m § At | IoT M

|

fagpanait 3R Va1 uerarsit A a & ga- sifte sragid <Rt s Suriaanail & Uy srueit maTet 38T & fRyar
3R P IT TE1 TG UTI HS qUl & dd GHY & 91¢ IWPR B TPt WR a4 & ford aifera g ust 3R
TP URUITA & U | 1986 H HoIHR WeaRM Uae (HIURT) B AN fHar T ue Iyt &f fhdl Iarg &
IR ® TE TSR U B7 TSR g1 31 3d ¥/ ST @ of fhdl Idure & 99 WR Sragal i JRem & IR o
SR 3T 3ifFard s §1 T8 GEAr ¥ Iuvidar i B off e # @den & o Sfa fofg a9 o
Hag fradt 81 fl o Saure & 99 W Siftreaw gevT wed forgen oY sifrard ghar 1 afe 918 garer
THIIRY A 3 1ol B @ df SuUiTaT ITH! RIerad & JHar 81 e uHiadr & At e 9
T o1 AfUPR gar 81 F13 1} fashar Faa v & gis U= 7 H= IPHa1 81 I/ 3UA UTeH P! Hs fdbeq ¢
BN 39 SAfUPR F AT 35 F e a1 ST & 9 ar] fear srar 21

SR A 7T T B UgHR A YR T U BT I« Farsy|

TR: TG BT ARBR 3R FIAT BT ARGR AW ITHTT & USRI B for S & dga an] fbar wirar 22
1. IUHTSRIT TRETTT

2. fopforrar &t

3. g ¢S

4. HUA AT

Correct Answer :-

. HHRT ¢S

~

20) fodt Icurg ®1 FWHTA HIF U ot IR H URTiGR 94 oirar 81 afe Sudiear ) g af fondt off
I BT SifeTed 181 FHI | TGl a9 IUUITT & SAFUBR FT Hard g af Iuviaan »1 fRufa ga-itg i w8t
SRt e TugH & R oY 3] gHTHER BT 3BV A P & ol B aoi diadl & a7 a8 ST 5 30
AP TR FPS IS Bl 3 | SATGIaR HSTE 394 a1 F= 91 A fyamae $3d agg a1 9wl 9914 &1 $© 9uf ugd
fremadt Tl 99 | an arelt graft 9 3 fardt smuwt arg gt afe smuA et {5l geeR 3 Rremaa
X 3} fgurea $1 g1t df Jaat A STUD! IAST gAIER o1 Fa1 UST 11 A 3maa S ¢ & o o
BT & ST TaT 1 b o1 A fypq Al @M 1R Y surerar i afean gt €1 gt oo & 88 & e
grar @1 ot gfear wiferdt &1 glar 81 YRa § frarae, Sraae, SHE, $9 auF, onfe R Rt



T8 81 1960 & TP A URA B SUHITT Sfigia- ¥ §U A1 1970 & % dF SUITT figial »ad fdhda
%ﬁ@ﬁsﬁw@hﬁwﬁwﬁ@ﬂﬁaml AP 510 & Tul § IuviFaT WTe-1 B T= H Al & IBTA 3T
|

fasrarait iR JAa1 ugrars | @ & ga-it e srAgid <&t i Suviaanst & o Sra-it smars 8™ & Ryar
3R BT IAT TS TIT UTI FS qUI P @9 FUY P IIG IPR B] 3TP! W a1 P ford T1ferd g1 usT iR
OS] URUITd & U 1986 H HogHR UICa=M Uae (HIURT) $i AN fHar 111 Te IuHiaar &1 fHdl Iae &
IR H FE TSGR U BT TSR g7 21 3d WF ST @ of fhdl Idurg & 99 WR Sragal o JR&m & IR o
SHSRY AT ifHard 91 €1 98 GuAr | SuHier & fasdt oft Saure #) wier F ford Sfa fAvfg a9 o
Teg firadt 31 feeh oft Saure & 30 R sifiraaw gevt gea foran ot sifyard giar 31 ol 91 garieR
THIARY A ARIF TSl HRaT 2 A STHTT ITD| RIGTIT HR D1 81 T IuHiaan &1 fafia fapeai & 9
T BT TUPR BT 31 B3 ot fashar Faa ua 81 gis 9 98 B APHd1 81 S U UTGH Bl B3 fdHeq oA
BN 39 SAfUPR F AT 3 F e a1 ! & 9ia an] fear e 21

SR &0 Y M= B TgH? Y Y& T U= $T IR 9415¢|
U=: HogHR UICaRM Uae (HIURT) Bl H9 ar fHar mar?

1. 1986

2. 1999

3. 1993

4. 1990

Correct Answer :-

» 1986

21) &t IauTe *1 3T HIP IuHigar W aoR # HrfieR 59 Srar 81 afe Suviedr &) g1 af et off
I BT AT T8 S| 98T aP SUHTT & SAfUBR BT Jardr 3 af SuHiaar t fRAfG ga-ia § w8t
SIRAT | ST THSH & R 3T 39 gHTIGR $T 3SIERUT & UHd § ol HH Joi alerdl § a1 I§ HH ol g+
AP TR FS IS FId! 3 | SAIGIR TR 394 I F= 91 A fyarae $3d dagg a1 90! 991d &1 $© i ugd
framadt Tl 99 | an arelt el 9 3 far smuwt arg gt afe smuR aft il geTeR 3 Rremaa
HXA 9 fgared $1 gRlt @ 9aa F STUD! IUDT gATER 1 A1 UST §11T1 AfG SMu= St ¢ | qo fosan
BT At ST et 1T b ¢ A ) aral @M 1R Y sarerar i ufean gt €1 gt oo #1 88 & frem
arar @1 Y gfear S1ferdt &1 glar 81 YR A frdarge, TR, SHRARY, S8 auF, S B R IRt
T8 21 1960 & SRIP A URd | SUHITT 3igia ¥ §U A1 1970 & /P dF IUNTT 3figia- pad fdwa
?@ﬁeﬁ'\fmwﬁwtﬂ@ﬂﬁmml AP 7T & aul A IUHITT WTS-1 B T | dolt | IS ST

[

fasharait ok Ja1 ugrarsi & @ & ga-it e sRAgid ft i Iuviaansit & ura S+t smars e™ & Ryan
3R P I TS T4 4TI FS I F A WU & II¢ IWPR B TP WR a4 F o anfera g vet ok
3@ URUIfd & U H 1986 H HogHR WicaRM Tae (HIWRT) $I aF fHar 111 te Iuiar & fHdl S &
IR A T AFBR U FT ARER FaT 1 3@ T ST ¢ ol fredl Iaute & U W Sragal 3k gRem & IR o
BRI AT SfFard §91d § 1 e a1 | Iuiadr i [t off Iare # witen & ford Sfe Aol am &
Teq fhradt 31 fxlY oft IuTe & U9 W Siftiean g1 geu oA it aifvard gtar 81 af 1§ gpreR
THIRH & 34fRIP I1et Hear & df STHTT TP RIPrad H Toar 21 T vl i fafia faeeat 7 9
T F1 ARER g1 71 BI3 2t fashar Faa te & vis I 78 H THd1 31 I U UGP Bt FS APy o
g1 39 SIS F AU ¢ & e 9= Sl & 9iNd ar] fBar sirar 21

SR &8 7T TN B UgHR A U T U= &7 SR 9a1gv|
U=: afe SUUITFT A8 i a1 U BT T g1 g2



1. fgaror
2. 3Rda
3. OREmeH

4. HTWT

Correct Answer :-

22) &t IauTe *1 3T HIP IuHiar W IR # HrfieR 59 Srar 81 afe Suviear &) g1 ot et off
I BT KT A& S| 98T aP UM & SAfUBR BT Jard 3 af SuHiaar it fRAfG ga-ia § w8t
SRR | ST THSH & R 3T 39 gHTIGR $T SSIER0UN & UHd § ol B qoi alerdl § a1 I§ HH ol 0=
AP TR FS a1 HId! 3 | SATGIAR HSTE 394 a1d F=d 91 A fyarae $3d agg a1 90! 991d &1 $© i ugd
framadt Tl 99 | an arelt gaft 9 3 far smuwt arg gt afe smuA et {5t geTeR 3 Rremaa
FXA B fgarwd $1 gRMt O 9ga F STUD! IUDT gATER 1 A1 UST §1T1 AfG SMu St ¢ | qo fosan
BT At ST et 1 b 21 H fapq aral @M 1R Y sareraR i ufean gt €1 9t oo &1 88 & e
arar @1 Y gfear siferdt &1 g1ar 81 YR A frarge, TR, STHRARY, $H auF, e B R IRt
T8 21 1960 & GRIP A URd H IUHITT 3(igia ¥ §U A1 1970 & /IS dF IUNTT 3figia pad fewa
?@ﬁeﬁ'\fmwﬁwﬁ@ﬂﬁmml AP 7T & aul A IUHTTIT ETS-1 B T | dolt | IS ST

[

fasharait ok Ja1 ugrarsi & @ & ga-it e sRAgid It i Iuviaansii & ura St mars e™ & Ryan
3R P I TS T 4TI FF a9 F A WU & 91¢ IWPR B TP WR a4 F o anfera g vet ok
3@ URUIfd & U H 1986 H HogHR WieaRM Tae (HIWRT) $i aF fFHar 111 te IuHian & fHdl S &
IR A T AFBR U FT ARER FaT 1 3@ T ST ¢ ol fredl Iaute & U W Sragal 3k gRem & ar o
BRI AT Sfard §91d § 1 e a1 | Iuian @i [t off I # wden & ford Sfe Aol am &
Teq fhradt 31 st oft SauTe & U9 W Siftieran g1 geu oA off sifvard grar 81 af 1§ gpeR
THIRH | 4P T1et Hear g a9 STHTT TS RIPrad H Toar 21 T vl i fafia fawea 7 9
T F1 ARBR g1 71 BI3 2t fahar Faa ue & i I 78 H THd1 31 I U UGP B HS APy o
g1 39 SfUPR F AU 38 & e 9= ST & 9iNd ar] fBar sirar 21

W 3 T TgiRr B UgH Y IR ¢ R $T S«k gars¢|
W fIhdT &Y U= IEH| &I FT B3 & g2

1. 0%

2. fabey

3. 3dlg

4. 7™

Correct Answer :-

23) i IaTe &1 sTHTA FXP SuHIaar Hft aoiR # HrfieR a9 Siar 81 afe Susiiear A8t g1 af feft of
HI P71 KT T8 ERITI 8T dP SUHITT & AUfYPR HT Hard § o) SuHiaar o1 fRUfS gy & &
RN | 39! TUIM & R 3 3 gHFGR $T ISTER0T & UHd § ol B qoi-T dierdT § a1 I8 HH &l 3=



% TR FYS I Bl 3 | SATGIR (HSTE 394 a1 S 91 § fdae $3d a5 a1 90! 9491d ¢ | $© 991 ugd
fremadt ol 99 & A arelt gadt AW $t fart smuwt arg gt afe smua it {5l gaeR I Remaa
H B fgwTed 3t ghfl A 9ga | ATUDT SHPT gHaER g1 Fa-1 UST gR1T1 IfE 3 Hff ¢ | 9w foman
BNt 3MU! uar gh N 6 31§ A ara @ iR &Y sarerar At ufear @)t 81 agt 9w @1 1 A frem
grar @1 ot gfear siferdt 31 giar 81 YRA § fidarae, STaaeRt, SHKER, $9 a9, fe Bt R IRt
T8 81 1960 & SXP A URd | SUHITT 3igia- ¥ §U A1 1970 & /P dF SUNTT Sfigia- »ad feha
?@ﬁsﬁ?mhﬁmﬁwﬁ@ﬂﬁam AP g1 & gl F IS WiTe-! Bt TS A dol A IBTA ST

|

fagpanait 3R Va1 ugrarsit A @ & ga- sifte g <Rt s Suriaansil & Uy srueit maTet 38T & fRyar
3R P IT TE1 TG UTI B qUl & dd HHY & 91¢ IWPR B TP WR a4 & ford aifera g ust o
TP URUITA & U | 1986 H HogHR WeaRM Uae (HIURT) Y AN fHar T Te IuuiaT &f fhdl Iarg &
IR H TE TSGR U B ISR g1 31 3d ¥/ ST @ of fhdl Iaurg & 99 WR Sragal i JRem & IR o
SR 3T 3ifFard s §1 T8 GEAr ¥ Iuvidar i B off Sae # @den & o Sfa fAofg a9 o
Hag fradt 81 fl o Saure & 99 W Siftreaw evT 4o forgemn oY arfrard ghar 1 afe 918 gaer
THIIRY | S 1ol B @ df SuNiTaT IuH! Rerad # Jwar 81 te uHiadr & fafis e 9
T o1 AfUPR gar 81 F13 o} faghar Faa v € gis U 7 F IPa1 81 I/ U UTeH P! H3 fdbeq ¢
BN 39 SAfUPR F AT 35 F e a1 ) & 9ia ar] fear srar 21

SR A T TR FY YgH Y YD Y U= BT IR Idrsu|
U fUPRI & Hra § YR Suriersy # fRufa it 82

1. T
2. 9dd

3. g9
4. JSd

Correct Answer :-

24) fHd I H1 sTHTA PP IuHIaar ft aoiR # HrfieR a1 Simar 81 afe Sudiiaar A8t 81 af feft of
HI P KT T8} ENITI T dP SUHITT & UfYPR &1 Hard & a SuHiaar o fRAfT gy & &t
SRAT | S TUIH & R 3T 3 gHTIGR $T ISIERUT & UHd § ol HH qoi-T dierdT § a1 I§ HH ol =
AP TR S a1 Bl 1 SATGTaR HSTE 391 a1 F= 91 A fyamae $3d agg a1 90! 991d &1 $© 9uf ugd
fremadt ol 9a & A arll St AW &t HARt MUt a1 gt afe smua it [t geeR | Remaa
P P iFUTH Dt gRN O T | ATIDT ITBT gHATR o1 P UST TN Al 3mu= Ht o1 & Ao fovan
BRI &t MUt uat gh T fF 39 H fawa ot @A WA Y Sarerar W ufear gt 71 st 9w 3t i § frem
grar @1 ot gfear wiferdt &1 glar 81 YRa § frdarae, Sraraes, S, $9 auF, 3nfe R Rt
T8 81 1960 & P A URd | SUHITT Sfigia- ¥ §U A1 1970 & % dF SUUITT figia-l »ad fehda
?@ﬁaﬁ?uzs&ﬁwﬁwﬁmﬁaml AP 7T & aul A IUHITT Tre-1 B T3 & doft | IS Sman

|

fasparait iR Ja1 ugrarsi & A & ga-it e g <Rt i Iuviaanst & o St smars o™ & Ryar
3R HIT IAT TS TIT UTI FS IuI P @9 FUY $ IIG IPR B 3TP! W a1 P ford T1fera g1 ust iR
3P IRV & U & 1986 H HogHR MR Tae (HIURT) Y AN frar T v Iuuia &! fHdl Iaurg &
IR | FE TSGR U BT TSR g1 21 3d T ST @ of fhdl Iurg & 9% WR Sragal o JR&m & IR o
SR} &1 3fard a1d €1 T GET | SuHiadr 3t [t o Ieure Y @iien & i Sa fAvfg a9 &
Teq et 31 fst oft SuTe & U W Siftrean a1 geu o i aifvard gtar 21 af 1§ gprier
THIARY | RIP ATSI HAT & A SUHTT ITD| RIPTId FR ST 81 TP IuHia &1 fafia fRApear & @



T BT TUPR a1 31 B3 ot fashar Faa ua 81 Fis 91 18 B IHd1 81 S AU ATGH B Hg fdHeq oA
BT 39 SfUPR F AT ¢ F faare a1 Sl & 9ia an] fear sirar 21

SR 38 7T TR B UgHR I IR ¢ U= $T SR 9a1gu|
wA: {5t Icure & U wR A fora sifvrard g g2

1. IATG DI T

2. TG BT

3. T P 0Ta1

4. BT Y1 I

Correct Answer :-

o SR TH G g™

25) Tt IauTe &1 sRATa Hxd IuHir Wt TR ® yrfiqR a1 wmar 81 afe Suier & i ot fasdt of
It o1 if&r T8 g | Tl a IuITT & fUSR &1 JaTd § af Iuviar 3t fRufa qoia § w8
SRR | ST THEH & A 3T 39 gHTIGR $T 3STER0N A THd & Sl B Ioi arerdl ¢ a7 9§ HH ol 39
P TR FYS a1 Hd! 3 | SATGIAR TR 394 a1 T 91 A fyerae $7d dgg a1 90! 991d &1 $© 991 ugd
framadt Tl 99 | Ban arell graft 9w o fard smuwt arg gt afe smuR it fedt geTeR I Riewa
FA Pt fgarma $1 gRA df Jqd | ATUDT ITST HATR &1 a1 UST gRIT| Al MU Hff ¢ & T fapa
BN A ST et 1 b 21 H fyepq et M 1R Y sureraR i ufean gt €1 gt oo #1 88 & e
grar @1 ot gfear wiferdt &1 giar 81 YRa § firarae, SraaeRt, e, 79 a9, fe R IRt
TSI 21 1960 F TP | URA A IUHNTT g IE §U A1 1970 & G-Th ab IUUITT JAigia bad Sféwa
gﬁwiﬁ\ﬁftumﬁﬁﬁiaﬂwﬁiiﬁifé?%ﬁfﬁ?ranléﬁ%ﬂainirasEﬂifiiznqthaaTQinﬁséTEﬁiqiﬁyniiérﬂTiitrenﬁrantn

|

fasharait ok Ja1 ugrarsi & @ & ga-it i sRAgid It i Iuviaasi & o 3=t mars 38™ & Ryar
3R HIF T 7Y T9T 4TI FS I6] P 9 oY & I1¢ PR B 39P W A1 F ford a1fera g4 ust ik
@] URUId & U H 1986 H HogaR UIeaR Tae (HIWRT) $t aF fFHar 111 th Iuiar &1 fHdl 3w &
IR A & AFBR U FT ARER Fa1 81 3@ T ST ¢ ol fHel Idute &b U W Sragal 3k gRam & IR o
AFSRI 37 ifard F1d &1 T8 G A Iuviaar i fed oft e &+ @dien & o e Aol a o
Teg fhradt 31 Y oft IuTe & U W Siftrwan a1 gew foraan off aifvard giar 81 af 15 gprer
THIRW & 4fRIP I16l Fedr ¢ a9 STHTT TS RIPrad H T&Har 1 T vl i fafia faeea 7 9

T &1 fUPR BT 31 B3 oft fashar Faa us 81 gis U A8 B APHdT 81 S/ U7 UTEH B B3 fddeq o
BN 39 ARPBR Pt MUTel ¢ F f/AT® I ST & A ang fear S g1

SR 3 T TR B ugwR R IR ¢ R $T Sk garse|
UT: WRd # UM Side f6d g2 # = gu A2

1. 1980

2. 1960

3. 1950

4. 1970

Correct Answer :-



26) il Icurg ®1 3TAUTA HIPB UM ot IR H URieR 94 Srar 81 afe Iudiaar ) g1 af fossdt off
It BT ifET T8 g1 | T a IuITT & ISR &1 JaTd § af Iuviar 3t fRAfa qoeia § w8
SRt 3ae! augH & R Y 3 gHTHER BT ISIERU A AP ¢ ol B aoi diddl g a7 I8 ST 5l I+
% TR FYS I Hd! 3 | SATGIR [HSTE 394 a1 Fed 91 § ferae $3d dgg a1 90! 9491d ¢ | $© 991 ugd
framadt Tl 99 & Ban arel graft 9 3 fart smuwt arg gt afe smua it il geeR 3 Rremaa
H B fgaTdd $t ghll d@f 9ea | ATUD! SHPT gHTER g1 Fa-1 UST gR1T1 AfE 3Mu Hff ¢ & 9w foman
BT & ST et 1 o 21 F fApA ol M iR Y sareraR i ufean g €1 gt oo $1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firarae, SraaeRt, e, $9 a9, fe R Rt
T8 21 1960 & SIP A URd | SUHITT 3figia ¥ §U A1 1970 & /P dF IUNTT Sfigia- »ad fehda
?ﬂ@ﬁaﬁwmf-—ﬁmﬁwﬁ@ﬁﬁawl AP g1 & gul § IuiaT WiTe-! Bt TS A aol A IBTA ST

|

fagrarait MR a1 ugrarsi & @ & ga-t e sRAgid <Rt i Suviiaansit & U Sra=h smars 8™ & Ryar
3R P I TS T 4TI HS a0l & dq WHY & 9I¢ IWPR B TP WR a4 & ford aifera g+ vst ok
TP IRUITA & U | 1986 H HogHR W= Tae (HIURT) Y AN fHar 111 Td IuUia &f fhdl Iaurg &
IR A AL AFBRI U FT ARER FHaT 1 3@ T ST ¢ ol il ITe &b Uh W Sragal 3R gRam & IR d
SR 31 3ifFard s91a 81 T8 GEAr ¥ Ikt i B off Sae # @den & ford Sfa fAvfg a9 o
Tiee et 31 fdt oft Saure & 99 WR Siftreraw gert Yo foraa oft aifvard ghar 81 afe 915 gorer
THIRW & 4P I1el Hear g a9 STHTT TP RIPTad H THar 81 e IuHiaar i fafia fawea & 9
T o1 AfUPR ga1 81 F13 i faghar Faa v & Fis U 7 F= APa1 81 I U UTEH P! Hs fdbeq ¢4
g1 39 fUeR F AUl 25 & e a9 HrEl & 9RA an fsar srar 21

SR 3 T TR B ugwR ) IR ¢ R $T Sk garse|
T: BT & U1 B ST WIS+ Pt T=AT & doil A FaT 74T 32
1. fiRTaC

2. Hdt

3. dil

4. 391

Correct Answer :-

27) i IaTe &1 sTHTd P SuHiaar ft aoiR # HrfierR a9 Simar 81 afe Sudiiear A8t 81 af fedt of
HI P KT T8 ERITI 8T dP SUHITT & UfYPR HT Hara & a SuHiaar o1 fRAfT gy & &
RN | S TUIH & R 3T 3 gHFGR $T 3SIERUT & UHd § ol B qoi-T dierdT § a1 I§ HH ol 30
A% W FS a1 Tl 81 TSR TS a9 918 v 91el # farae $vd dgg a1 981 94914 81 $S auf ugd
fremadt wral 9 & e arell raft A 9t SR smuwt a1 gl afe smue wft fadt gaTeR @ Riewa
P P iFUTH Dt gRN O T W ATUDT BT gHAER Bt P UST M1 AfE 3mu= Haft o1 & Ao fovan
BRI Y 3TUe) uat gRT 6 29 ¥ fyea ara WM 1A &Y Surerar A gfear gidt €1 gst ao &t 8 & frem
aran @ oft afear eferdt &1 ghar 81 wRa # frarae, Sraeer, SHE, $9 a9, nfe @ R Wt
T8 81 1960 & TP A YR H SUHITT Sfigia- ¥ §U A1 1970 & % dF SUTT figia »ad fdha
%ﬁ@ﬁsﬁw@hﬁwﬁwﬁ@ﬂﬁaml AP 7T & aul A IUHITT Wre1 B T3 & doft | ISTe Sran

[



fasharait ok Ja1 ugrarsi & @ & ga-it e sRAgid &t i Iuviaansit & ura S+t smars 8™ & Ryar
3R BIS I T8I T9G1 UTI F3 a9l & A9 TYY & 9I¢ IXBR DI gD W A4 & oA F1fera g1 vt 3R
3@ URUIfd & U H 1986 H HogHR WieaRM Tae (HIWRT) $I aF fFHar 111 te Iuiar & fHdl S &
IR A L AFBR U FT ARER FhaT 1 3@ T ST ¢ ol fredl Iaute & U W Sragal 3k gRem & IR o
BRI AT Sfard §91d § 1 e a1 | I i [t off I # wdien & ford Sfe Aol am &
Teq fhradt 31 st oft IauTe & U W Siftrean a1 geu oA i aifvrard gtar 81 af 1§ gpreR
THIRH | 34fRIP I1el Hear & df STHTT TP RIPbrad % Toar 81 T vl i fafia faweat 7 9
T F1 ARBR g1 71 DI 2t fashar Faa te & i I 78 H THa1 31 I U UGP Bt H3 APy o1
g1 39 SIS F AT ¢ & e 9= ST & 9iNd ar] fBar sirar 21

SR &8 7T iR B UgHR A YW T U= &7 S@R 9a1gv|
U: GPMER A IUD! RIS A W MU IHDT T JAT UST RI?
1. R0 SIeU™

2. GHAER
ACINIES]
4, ol ardf

Correct Answer :-

28) Pt IauTg ®1 EHT B UM WY TR # URIGR & wirar 81 afe Susier ) git ot fasdt off
I BT ST T8) BRI W6l a9 IuUITT & SAfUBR FT Hard 3 o) Iuviean #1 Rufd qoitg § w8
SRR | 3P TUIM & R 3 3] gHHGR $T IS1ER0 & UHd § ol B qoi-1 dierdT § a1 I8 HH- ol 30
% TR S I Hdl 3 | TG (HSTE 394 a1 Fed A1 § fdae $3d a5 a1 I8! 9491d ¢ | $© 991 ugd
fremadt Tl 99 & A arelt gadt AW ot fAr smuwt arg gt afe smuR it {5l geTeR I Rremaa
H B fgwTea 3t ghfl A 9ga | ATUDH! SHPT gAaER g1 Fa-1 UST gR1T1 IfE 3Mu Hff o9 | 9w foman
BNt MUY uar gh N 6 3 | e ara @ iR 3 sarerar A ufear @)t 81 agt 9o @1 1 A frem
arar @1 ot gfear wiferdt &1 gia1 81 YRd § fAdarae, SraaeRt, SHER, $9 a9, fe Bt R IRt
T8 81 1960 & P A URA B SUHIFT Sfigia ¥ §U A1 1970 & /P dF SUNTT Sfigia- »ad fdha
?@ﬁsﬁ?mﬁ’rmﬁwﬁ@ﬂﬁam AP 51 & Tuf A Iuviear Wre-l &) T=n § At | IoTe M

|

fagpanait 3R Va1 ugrarsit A a & ga- sifte sragid <Rt fr Suriaansil & Uy srueit maTet 38T & fRyan
3R DI IT TE1 TG ATI B a0l & A9 HHY & 916 IWPR B TP WR a4 & ford aifera g vst 3R
TP URUITA & U | 1986 H HogHR WeaRM Uae (HIURT) Y AN fHar a1 T Iyt &f fhdl Iarg &
IR H TE TSR U B ISR g1 31 3d ¥/ ST @ of fhdl Iaurg & 99 WR Sragal i JRem & IR o
SR 3T 3ifFard s § 1 T8 GEAr ¥ Iuvidar i B off Sae # @den & o Sfa fofg a o
Hae fradt 81 f5l o Saure & 99 W Siftreaw evT 4o foremn oY srfrard ghar 1 afe 918 gerer
THIIRY | S 1ol Har @ df SuUiTar IuH) Rerad # Jwar 81 e uHiadr & At e 9
T o1 AfUPR gar 81 F13 1} fashar Faa v € gis U 7 H= IPa1 81 I/ U UTeP P! H3 fdbeq ¢
BN 39 ISR F AT 35 F e a1 AT & @A ar] fear srar 21

SR A 7T T B UgHR A YR T U BT I« Faqrsy|

UE: ¢ | fe arelt @m-1i areft [erar Il 31 Jurawn st gt 82
1. gfear

2. sfean



3. 3PV
4. QAR

Correct Answer :-

29) it Iurg ®1 FTAUTA HIPb UM ot IR H URTieR 94 Sirar 81 afe Iudiaar ) gia) af fonsdt off
It o1 ifETe T8 g1 | Tl a IuUIFT & fUBR &1 JaTd § af Iuviar ot fRAfa qoeia § w8
SRt 3OSt augH & R Y 3 gHTHER H1 ISIERU A AP ¢ ol HH aoi diddl & a7 I8 ST 5l 39+
P TR FYS I Hd! 3 | SATGIR (TS 394 a1 Fed 91 § fyeae $3d a5 a1 I8! 9491d ¢ | $© 991 ugd
framadt Tl 99 & Ban arel gadt 9 3t fart smuwt arg gt afe smua it il gaeR 3 Rremaa
H B fgaTwd $t ghll A 9ea | ATUD! SHPT gHTER g1 Fa-1 UST gR1T1 FfE 3 Hff ¢ | 9w foman
BT A ST et 1 o 21 H fApA aral M iR Y sureraR i ufean g €1 gt oo $1 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firdarae, SraaeRt, e, $9 a9, 3fe R IRt
T8 21 1960 & SIP A URd | SUHITT 3figia ¥ §U A1 1970 & /P aF IUTT figia- »ad feda
?ﬂ@ﬁaﬁwmf-—ﬁmﬁwﬁ@ﬁﬁawl AP g1 & gul § IuiaT e+l Bt HE A aoh A IBTA ST

|

fagrarait MR a1 ugrarsi & @ & ga-t e srigid <Rt i Suviiaamsit & U Sra=i smars 8™ & Ryar
3R PIT I TS TG 4TI HS a9 & dd GHY & 91¢ IWPR B TP WR a4 & ford aifera g ust 3
TP IRUITA & U | 1986 H HoIHR W= Tae (HIURT) Y AN fHar T T IuUiaT &f fhdl Iaurg &
IR A L AFBRI U FT ARGR FaT 1 3@ T ST ¢ ol [l ST b Uh W Sragal 3R gRam & IR d
SR 31 3ifFard s 81 T8 GEAr @ Iuviaar i fHA off Sae # @dien & ford Sfa fAvfg a9 o
e et 31 fdt oft Saure & 99 WR Sftreraw et Yo fora= oft srfvard ghar 81 afe 915 gorer
THIRW & AP I1el Hear § a9 STHTT TP RIPrad H T&ar 1 TP Iyl i fafia fasea & 9
T o1 AfUPR ga1 81 F13 f fashar Faa v & Fis U 7 F IPd1 81 I U UTeH H! Hs fdbeq ¢
g1 39 fUeR F AUt 25 & e a9 HrE! & 9RA ary fsar srar 21

SR 3 T iR B ygwR i IR ¢ R $T Sk garse|

T: et IeTg FT ST P IUHITAT IR § T 9 o1l 82
1. HIflGR

2. HGR

3. WIGER

4, gPIaRR

Correct Answer :-

30) fdft IeuTe F1 3TAHTE FRFP ST W IR A YRiieR 59 wrar 31 afe Sudiear 7Y g1 ot fa=dt oft
HIH P KT T8} ERITI S8T dP SUHITT & UfYPR &1 Hard § o SuHiaar o fRAfT gy & &t
SRAT | S TUIH & R 3T 3 gHTIGR $T ISIERUT & UHd § ol HH qoi-T dierdT § a1 I§ HH ol 3=
AP TR FYS a1 FIdl 1 SAIGIaR HBTE 391 a1 F= 91 § fyamae $3d agg a1 90! 991d &1 $© 9uf ugd
fremadt ol 9a & A arell St AW &t HARt MUt a1 gt afe smua it [t geeR | Remaa
P P iFUTH Dt gRN O T | ATIDT IBT gHATR B P UST I AfE 3mu= Ht o1 & Ao fovan



BT A ST et 1 b 21 H faepq el @M 1R Y sarerar i ufean gt €1 gt oo 3 88 & e
grar @1 ot gfear wiferdt 31 giar 81 YRa § firarae, SraaeRt, e, 79 a9, ofe R Rt
TSI 21 1960 F TP | YR A IUHNTT i e §U A1 1970 F G- db IUUITT JAigia bad Sféwa
gcnaﬁsﬁ?uzszﬁﬂmﬁwﬁw&hawl AP 51 & aul A Iuviear Wre+l &) T= H Aot | IsTa mar

|

fasharait ok Ja1 ugrars & @ & ga-it e sAgid &t i Iuviaansii & ura St smars 3e™ & Ryan
3R HIF AT 7Y T9T YTI FS I6] P &9 FY & I PR B 39P1 W A1 F ford a1fera 841 ust ik
@] URUIfd & U H 1986 H HogHR WicaR Tae (HIWRT) $I aF fHar 111 te Iuiar &1 fHdl Sae &
IR A L AFBRI U FT ARER Tt 1 3@ T ST ¢ ol fell IdTe &b U W Sragal 3k gRam & ar o
AFSHRI 37 ifard g1 g1 T8t G @ Iuviaar i fed oft e Y @dien & o e Aol a o
Teg fhradt 31 Y oft IauTe & U W Siftiean a1 geu foraan Y aifvard giar 81 af 15 gprieR
THIARY | RIF TSt Ha1 8 @ SUHTT IUD| RIP1ad FR o1 81 T IuHiaan &1 fafia fipea &
T &1 fUPR BT 31 B3 ot fashar Faa us 81 gis U A8 B TPl 81 SQ U7 UTEH H] B3 fAdeq o
BN 39 ARPGR Pt MUl ¢ F f/AT® §9 S!S SA ang fHar S g1

SR 3 T TR B ygwR R IR ¢ R $T Sk garse|

7= f5 e | SuHiwn #) {50 off 3w o1 @i & R Sfa fofa a7 & #eg faad 82
1. T Ul

2. 981 flie

3. ol gl

4. g1 o

Correct Answer :-

. gl g

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall



I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

"I hope to grow stronger smarter’’- What is the literary device used here?
1. alliterations

2. simile

3. metaphor

4. onomatopoeia

Correct Answer :-

o alliterations

2) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

The speaker was excited looking at the new date because:

1. he had moved to a new school on that day



2. his exams were over
3. because it was the start of a new year

4. he could borrow books from his friend

Correct Answer :-

» because it was the start of a new year

3) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

What emotions is the speaker experiencing?
1. anger and irritation

2. happiness and excitement

3. confusion

4. sorrow and depression

Correct Answer :-

 happiness and excitement



4) Read the poem carefully and answer the question given below:
The New Year has just begun

And I'm feeling great

I'm excited and happy

Looking at this new date

I plan to study hard
To learn to play football
I hope to grow stronger smarter

And become a little more tall

I intend to read more books
From beginning to finish
To understand what is in them

That is my New Year wish

The poem tells us that the speaker is:
1. caring

2. optimistic

3. generous

4, carefree

Correct Answer :-

e optimistic

5) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.



De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What was the task that engaged Crispijn van de Passe II?
1. He wanted to immortalize the elephant

2. He wanted to decode the mathematical laws of proportions
3. He wanted to kill an elephant

4. He wanted to construct an ideal elephant

Correct Answer :-

* He wanted to construct an ideal elephant

6) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What is exhibited in Florence’s Museum of Natural History?
1. The list of elephants that visited Europe

2. The picture of Hasken made by Rembrandt

3. The skeleton of Rembrandt

4. The skeleton of an elephant that was pictured by Rembrandt

Correct Answer :-

¢ The skeleton of an elephant that was pictured by Rembrandt

7) Read the passage carefully and answer the question given below:



Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

What was the basis for the findings in Crispijn van de passe’s book?
1. Several elephants that had visited the European continent before 1620
2. The rules of geometry

3. Crispijn’s imagination of the ideal elephant

4. Details of the past sightings of the animal

Correct Answer :-

e The rules of geometry

8) Read the passage carefully and answer the question given below:

Flemish artist Crispijn van de Passe II wanted to describe the perfect elephant. The question that
occupied him was whether elephants had an optimal form.

By the year 1620 several elephants had visited the European continent. King Manuel I of Portugal
gifted an elephant named Hanno from India to Pope Leo X in 1510. An elephant named Suleiman
travelled through Spain, Portugal and Italy and died in Vienna in the 1550. He was stuffed and
exhibited in Munich for centuries. A couple of years later, Emmanuel travelled through the Low
Countries and Austria. The list does not dwindle even when we reach Hansken, the elephant
immortalized by Rembrandt, and whose skeleton is still exhibited in Florence’s Museum of Natural
History.

De Passe however was not interested in detailing the features of an elephant from what he had
seen. Instead Passe wanted to construct an ideal elephant using the rules of geometry. Using
squares and circles he created an ideal animal that conformed to the laws of mathematical
proportions and published the results in his book.

Name the elephant that the Portugal King gifted to Pope Leo X.
1. Hasken
2. Suleiman

3. Hanno



4. Emmanuel

Correct Answer :-

¢ Hanno

9) Fill in the blank with the correct option in the given sentence:

Lack of presence of mind will cause absurd-- in all the cases.

1. --tion
2. --ness
3. --ity

4. --tive

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:
When you have several million rupees, you are a -- millionaire.

1. poly -

2. mono-

3. di-

4. multi-

Correct Answer :-

e multi-

11) Choose the option that best explains the highlighted expression:
The people in the villages in India are known for keeping open house.
1. keep doors open all the time

2. live in a joint family

3. keep houses well ventilated

4. being hospitable and friendly

Correct Answer :-



» being hospitable and friendly

12) Choose the appropriate determiner for the sentence given.

It seemed as if who had gone camping had an adventure story.
1. each

2. none

3. everyone

4. someone

Correct Answer :-

e everyone

13) Fill in the blank with the correct option from those given below:
Rubberisagood

1. insulated

2. insulation

3. insulate

4, insulator

Correct Answer :-

¢ insulator

14) Which of the following options best combines the two given sentences?

I was the class topper in my class. I was not selected in the interview.

1. Even though | was the class topper in my class, | was not selected in the interview.
2. | was the class topper in my class since | was not selected in the interview.

3. I was the class topper in my class, yet | was selected in the interview.

4. | was not selected in the interview because | was the class topper in my class.

Correct Answer :-

« Even though | was the class topper in my class, | was not selected in the interview.



15) Choose appropriate articles for the given sentence:

Last summer we went on cruise to Caribbean islands where we visited Barbados and St.
Lucia.

1. a, the
2. the, an
3. the, no article required

4. no article required, a

Correct Answer :-

e a,the

16) Choose the appropriate option that rewrites the given sentence in its active voice.

I was selected as the best creative writer by the Art & Literature Club from all over the world.

1. The Art & Literature Club had selected me as the best creative writer me from all over the world.

2. The Art & Literature Club had been selected by me as the best creative writer me from all over the world.
3. The Art & Literature Club selected me as the best creative writer from all over the world.

4. Art & Literature Club was selecting me as the best creative writer me from all over the world.

Correct Answer :-

e The Art & Literature Club selected me as the best creative writer from all over the world.

17) Choose the appropriate synonym for the highlighted word in the given sentence.

As the baby was ill and crying continuously, Mother had to be vigilant throughout the night.
1. brave

2. rested

3. asleep

4, alert

Correct Answer :-

o alert

18) Choose the appropriate tense from the options given to fill in the blank in the sentence :



The reports from across the state that many districts
1. is showing, is being affecting

2. show, have been affected

3. was showing, had affected

4. has showed, has affected

Correct Answer :-
¢ show, have been affected

19) Choose the appropriate antonym for the highlighted word in the given sentence.

The museum’s permanent collections are kept in a separate room.
1. persistent

2. uninterrupted

3. temporary

4, interminable

Correct Answer :-
e temporary

20) Choose the appropriate pronouns for the following sentence:

Ramu did most of the work although was very difficult for

1.it, it
2. he, him
3. they, his

4. it, him

Correct Answer :-

21) Choose the appropriate prepositions for the given sentence:

An airplane flew the building and the little boy saw it the window.



1. across, in
2. over, through
3. towards, across

4. on, from

Correct Answer :-
» over, through

22) Choose the option that best explains the highlighted expression:

Anil: How did the election go?

Sunil: Very exciting till the last minute. Our candidate proved to be a dark horse.
1. The candidate backed out at the last minute.

2. The candidate is not popular but won.

3. The candidate is popular and won.

4. His candidate lost the election, though he was expected to win.

Correct Answer :-
e The candidate is not popular but won.

23) Choose the option that best transforms the sentence into its Indirect form:

‘What a lovely morning!’ he said.

1. He remarks that it was a lovely morning.

2. He remarked that it was a very lovely morning.
3. He remarks what a lovely morning it is.

4. Did he remark what a lovely morning it was?

Correct Answer :-

* He remarked that it was a very lovely morning.

24) Change the given dialogue into reported speech.

Tina: Where are you going, son?



Son: Mom, I am going to my friend’s house to play.

1. Tina asked her son where he was going. He replied that he was going to his friend’s house to play.
2. Tina asked her son where he was going. He replied that he went to friend’s house to play.

3. Tina asked her son where he is going. He replied that he is going to his friend’s house to play.

4. Tina asked her son where he went. Son replied that he went to his friend’s house to play.

Correct Answer :-

» Tina asked her son where he was going. He replied that he was going to his friend’s house to play.

25) Choose the right tag:

I had visited my mother in hospital every day, ?
l.am1

2.do1

3. hadn't I

4, aren't I

Correct Answer :-

e hadn'tl

26) Choose the option that substitutes the given phrase appropriately.
A person who takes pleasure in shop lifting

1. Nymphomania

2. Kleptomania

3. Hypomania

4, Mania

Correct Answer :-

+ Kleptomania

27) Fill in the blank with the most appropriate preposition from the options given.

Rani of Jhansi fought the freedom of her country.

1. from



2. during
3. since

4, for

Correct Answer :-

o for

28) Choose the most appropriate determiner from the options given below.
hotel did you go to?

1. What

2. Which

3. Why

4, Where

Correct Answer :-

e Which

29) Choose an appropriate modal for the given sentence:

I play for hours in the sun when I was young.
1. could
2. might

3. shall

4. may

Correct Answer :-

e could

30) Read the sentence carefully and choose the option that has an error in it:

During a rain storm, mud rivulets formed on the side of a hill move soil from one place to other.

1. from one place to other.



2. move soil
3. During a rain storm,

4. mud rivulets formed on the side of a hill

Correct Answer :-
» from one place to other.

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./
3c(a+b)TH ____ Bl

1. algebraic equation / SrSHTTOrC T et RuT
2. monomial polynomial /WW
3. binomial polynomial /%uaﬁtragqa

4. trinomial polynomial /W@Eﬂ'&'

Correct Answer :-

+ binomial polynomial / fgudla ¥gug

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
gfe x-31ef I TP g P t daad gl 8 IF15 @

3R @9 BT UG x-3& Pt BUTAS MR Ry g, AfdgpAE:

1. Ordinate = 8 / ®If¢ =8

2. Abscissa= 8 or -8 / Yol = 8 3{YdT -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8 / Yol = -8

Correct Answer :-

o Ordinate = 8 /Pl =38

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/



uﬁqagﬁaaﬁa@qu@uamnszoaﬁﬁammanwﬁw 56 QI g, df P!
TS 8:

1. 42 cm /42 9t
2. 24 cm /24 Tt
3. 40cm / 40 AT

4,21 cm /21 99

Correct Answer :-

e 42 cm /42 9

4) What is predecessor of natural number 1? /
WIpd =T 1 B qdad] ST T 8?2

1.2

2.1

3. no predecessor/ﬁéqﬁaﬁmﬁ%

4. 0

Correct Answer :-

« 1o predecessor / ®13 Ydad! e Tal §

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafag & @ S19-31 g & geuie #1 T 33y 781 82

1. Knowledge / 3T

2. Analysis / ICESLLI

3. Comprehension / JHI

4. Attitude / TIGRI

Correct Answer :-

« Attitude / TIGRI

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /

TS JH TIYS &1 URUTT 45 A 31 39 TH Yol B Aars fHa-l 82



1. 9 cm/9 IHt
2. 9.5¢m/9.5 9w
3. 7.5cm/7.5 99

4, 15cm/ 159w

Correct Answer :-

e 9cm/9odl
7) pZ+q9-z°
[f p=-2,gq=3. and z= 2. then find the value of g———. !
= +pq-pqz
afg p=-2,¢q=3,79 z=2 %,Fn' Ez-l_qjﬁ HATeT AT il
= +pq-pqz
9
., 5
31
2. _?
i |
3. _E
4. 19
Correct Answer :-
i
. 5
8) 1 1 2
e e T v
1. (x-3)
2. (x-2)
3.0
4. (x-4)

Correct Answer :-

e 0



9
) The diagonals of a rectangle PQES intersect at the point O_If

£POQ = 130° then ~ORS =7
Hd PQRS & fa&ol Tegay &1 fdg O X yid=sied &
&1 afg £POQ = 130°, 9 £0RS =?

S —R
B L
-]
P Q
30°
1,
25°
2.
130¢°
3.
50e
4,

Correct Answer :-

10) The area of sector of a circle of radius 10 cm and of angle 60° is Al

10 T 321 dar 60° FIUT g1 U ded & [9o0@s HI aTa5d el

157 157
%sqcm!iaﬁm
157 157

3 sqcmf—_cl?sf?ﬂﬂ

167 167
qucmfr—a’dﬁ'm

3.

4. 157 sqem/ 157 i et

Correct Answer :-

157 157
Eisqcmfia?rriq?:ﬁ'



11)
Given two right angled triangles PQE_and DEF _such that » Q=30

£2D=30 and QP=DE write the correspondence if triangles are congruent. /

& |ASIUT Feyet PQR IR DEFsH UsR v 71w §fF 2Q =30, 2D =30 3R QP=DE
&1 afg Beier gabmes 6. & daaar I w1

, ARQPZAFED

, AQPR=ADFE

3, APQR=ADEF

, APQRAEDF

Correct Answer :-
APQEZAEDF

12)
APQR. is an isosceles triangle with PQ=PE._ Altitudes RF and QG are drawn to the sides P(Q and

PR from vertices R and Q If one altitude RF is 3 cm and the base QR is Scm then GR=___ /
APQR U THG/aaTg f3Rfel 8, f5d PQ=PR | ofifeial RF 3R QG ! off Rud Q3
=T PQ 3iX PR d% €= A1ar §1 ITE v ofed RF 3 @4 § 31T 3mam QRS T
g.ar GR=__|

1.4 cm/4 9

2.3 cm/3 9

3.5cm/5 9

4.6 cm/ 6 oI

Correct Answer :-

e 4cm/4TH



AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis . [

AABC &1 T AIMETST AD§ dur AD&T #edfdg Mel afg ABMD &7 &ai=he 2.5
A 8.9 AABC &7 &5%el 2l

1. 20 cm? / 20 2
2. 10 cm? / 10 T2
3.5 cm? /5 QP2

4,25 cm? /25 QAP

Correct Answer :-

« 10 cm? /10 H2

14)

. .1 . . . - .
Anu’s age is E‘d- of her mother’s age If Anu’s age is 12 then mother’s ageis [/

3] &1 Y 3T AT I 3 & 1/3 g1 Iig 3] 1 3y 12 a9 g, @ A 71 37 &

1. 36
2.24
3.35

4. 30

Correct Answer :-



The length of two trains T1 and T2 are 620 m and 480 m respectivelv. The length of the freight

train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the
distance

platform if it has a speed of 20 m/s. [ime =
speed

ared T1 ugd T2 &1 o5 FH 620 Hiex 3R 480 Hex g1 Arcamar T3 &1 a9
& T1 Ud T2 & 17 &1 SEe ¢ Il Saeht arfd 20 #HexAes g, df T3 garT &
TIEHIH W Ud 9Re FT 9K ad & (U 31aedd 8T Ad 17

1. 3 minute 10 seconds / 3 fiFe 10 ¥bs
2. 1 minute 50 seconds / 1 fiFe 50 Tbg
3. 2 minutes 10 seconds / 2 fiFe 10 9Fs

4. 2 minutes 40 seconds / 2 fiFe 40 Ybs

Correct Answer :-

« 1 minute 50 seconds / 1 ffFe 50 Ab s

16) J (e :
If 3x+:+2=3x: a =x+3}+1,thenfindthevaluenf'xandy.

_q_% 3.::+y+2:3x—y—i:x+".iy+i _%.,(__n_ I.UE'_ }_a; AT AT ﬁl

3 2

-13
X=-2, v=—
: 5
1.
7
X=—-,v=-)
)
2.
1 3
=T,
3.
4. x=2,y=3

Correct Answer :-

17)
If & and B are the zeroes of the polynomial x% — 5x + k,wherea— f = 1,thenk=__. /

af¢ aTdp 9gUE x® ~5x +k & YH &Gl a—f= 1&, dAk=__



2.2
3.3

4.6

Correct Answer :-

18)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure2? | Figure3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled T _ 2 3
squares

More than half 4 4 _ 8

filled squares

Less than half a 7 _ >

filled square

Find the figure with larger area. /

foger arferer & afttg omw offe X I 35S RBv 9w &)

&hal fhar I T | &SIl | H6hs12 | &3 3T 4
HE]

oof &7 & | 5 5 6 4

aat

3T X aar 7 _ 2 5
ey F faw | 4 4 _ 8

sTY @t

WY F FH |9 7 _ -

aat

TdY g5 &8 &I st Ad S|

1. Figure 4 / 3iH Sl 4
2. Figure 2 / 311 2
3. Figure 1/ 33T 1

4. Figure 3 / 311 3

Correct Answer :-



« Figure 4/ 3fiH sl 4

2 _ 2 3 _ 2
19) Find the value of 'K, if ¥~ — 2¥ T 1 jsafactorof 2% TX° —14x"+5k+6 ,

4 3 _ 2 2 _ .
-1
1.
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /

fFrafafad ted & qu e gra #31

3.7

4.6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadf 3R 9871 & WRdl & dId 3R HT J1d B |

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-

o 88828



22) Find the GCD of 10, 20, and 30. /

10, 20 3fX 30 BT HgWH HAHTIP (GCD) T B |
1. 10

2. 60

3.15

4. 30

Correct Answer :-
« 10

23) A scaled down teaching encounter is known as ./

IIviiE (s s Rgurdad _ FEFuF AT AT B
1. Macro teaching / g8 T1&f0T (Hept i)

2. Micro teaching / G&H fRI&0 (Frgeh! Afzim)

3. Mastery teaching / Jait0T fRI&01 (AR i)

4. Model teaching / ATSe & (wisd i)

Correct Answer :-

« Micro teaching / G&H fR1&1 (ATSshI Efem)

24) Postulates are assumptions specific to ./
Wiy, falRre @ __ &1 s@urume &1

1. trigonometry / IECANIEIG]

2. algebra / CISUIYG

3. geometry /Sanfafa

4, arithmetic / 3R

Correct Answer :-

» geometry / Sarfafa

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./



TAENNGH St AT SSRA’ & GRT 3R SAHIOG W fovar a1 s ATl
1. Al Kharkli / 3/cT @Redl

2. Abil-Wefer / 3{fae-dth

3. Omar Khayyam / SHR &&H

4. Al-Khwarizmi / 31c1-SATRH!

Correct Answer :-

e Al-Khwarizmi / 3@-SATRGHT

26) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & T P &HAT & S HISH BT SUHNT HA & forg fhe g )
3P 3R HH Sl P o9 3 P4 A J&H 2

1. Understanding of notations /Waﬁm

2. Recognition of numbers /QT@ITH%W

3. Recognition of notations / Gohad Bl UodId

4. Innate number sense /Wmﬁﬁﬂ

Correct Answer :-

¢ |nnate number sense /WQT@T@W

27) Rhombus is formed by joining the midpoints of the adjacent sidesofa__ ./
& e yeneit & weafdge o e @ awagys s ar 21

1. Rectangle / 3{1dd

2. Parallelogram / FHMIAR Agst

3. Rhombus / FHATYS

4, Kite / gal

Correct Answer :-

» Rectangle / 3{dd

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /



7 ASH| BT AT Io 45 5T 21 398 A 6 &1 99 53 b1, 45 fbw, 40 foam, 37 fopam, 42 fum 9yt 50
fpun g1 79 TS &1 9o FTA B

1. 42 kg / 42 T
2. 48 kg / 48 fobuT
3. 45 kg / 45 foun

4. 50 kg / 50 fobu

Correct Answer :-
o 48 kg /48 T

29) The degree of the polynomial (2x —8) + (8 — 2x): /

W(Zx—8}+ (8—2x) % T7d 2

1.1

30) The action verb for giving examples of different types of sets is ./
fafird yopR & Ty=al & IaTevvl o1 & e forarers fopan gl
1. classifying / FiffeRur

2. comparing / eIl
3. differentiating / faveq

4. listing / WUT

Correct Answer :-

o classifying /aTﬁWUT

31) The graph of the linear equation 2x +5y =10

E—
IFH BT 2x + Sy = 10 FT IE TH 3@ @ ot g R x-31&f | freran g1

is a line which meets the x-axis at the point



1. (0,2)
2.(1,2)
3. (5,0)

4. (2,5)

Correct Answer :-

32)
Which property is used to equate: /

THiigpd B3 & forg fa qurent 1 v fasan s &:

i.19 x 13 = 190 + 57

ii. (-34-53)+23=-34+-30

1. 1 - Commutative property, ii - Associative property /1 - FHANTT 0T, 1i - BREIR o7
2. i - Distributive property, ii - Closure property /i - IEERUIGED 0T, i1 - FHIY 07

3. i- Commutative property, ii - Closure property /1 - HAMTT 0T, 1i - FHGT 0T

4. i - Distributive property, ii - Associative property /i - IEGRUIGAED U, i - S REIR qur
Correct Answer :-

 i- Distributive property, ii - Associative property /i - [EGRUIGAED 0T, i - R REIN T

33) Choose the solution for the equation: x+9 =12./
HHISRL: x+9 = 12 & & BT 994 DL |

1.3

2.4

3.2

4.6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /



ATSHA & U 210 HieX ddl 3R 165 WeX dIS! TP SMAATHR diad 81 98 10 $Ud yfa Mex st v @
Tt & 2 WY A T IS T ATET 8 | TS T B ARTT 97 D |

1. Rs 15000 / 15000 0

2. Rs 7500 / 7500 T4

3. Rs 6930/ 6930 344

4. Rs 693000 / 693000 T

Correct Answer :-

« Rs 15000/ 15000 30

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
afe y-9ier & T fdg o1 daaa gl 4 g @, N g @

1.y coordinate 4/ y =1 4

2. x coordinate -4 / x FGRI® -4

3. x coordinate 4 / x FGRI® 4

4. x coordinate 4 or -4 / x SR 4 37T -4

Correct Answer :-

« x coordinate 4 or -4 / x IS 4 37aT -4

36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

Tfe Ud® (-3,6),(0,3) TI (3,0) TH 3P THHR0T x Td y A g §, af IHiHRT 8-
1. y=x-3

2. y=x+3

3. x+y=3

4, y+2x=0

Correct Answer :-



37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /

I Y 1 & F1d B forget =M P2,0), Q(5,0) T R(5,2) B:
1. 25 units? / 25 BTS2
2. 6 units? / 6 SHTS2

3. 4 units? / 4 SHIS2
4. 3 units? / 3 SHIS2

Correct Answer :-

« 3units? /3 SHIE2

38) Which one of the following points does not lie on the line 2y = 5x-2?/
fFafafea & @ s-dt fag W 2y = sx2 W iR T8 82

1. (0,-1)

2. (-4,-11)

3. (-2,6)

4. (2,4)

Correct Answer :-

39) Which one of the following is not a teaching style? /

Frafafaa & @ #19- v Rieor Aeh T8 22
1. Scolding / IERNIE]

2. Demonstration / LA
3. Inquiry / S
4. Discovery / 3]

Correct Answer :-

« Scolding / Teream T

40) Which one of the following statements is false about polynomial? /



Fufafed 3 & S19-91 $Y= 9gU¢ & A9Y § 3 82

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / faHTS oA
& IATIR, HIST dgUe p(x)aﬁaamg(x)@rﬁmiﬁa%mm% @ UITH q(x) T A r(x) 39 YR d1 §
f pe) = g() (x) + r(x), STET r(x) BT T > g(x) PT U1 &1

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / YTd 3 & Y TH § guG T 3ffdpad 3
() B qbd B

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / YTd 2 &Y T § gua T 3ffddmad 2
RRCOREEEE

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). /afe TH

U1 HT U x-318f P &l gl R Hredr g, @ s H 2 I () §d g |

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) > degree of g(x). / favmem
AR & SIER, YT §gUS p(x)ﬁwmg(x)@rﬁwm%mm% dl URTH S q(x) T4 2 r(x) 39
bR <l 8 b p(x) = g(x) q(x) + r(x), STET r(x) BT U1 2 g(x) BT 1A &

41) Abscissa is also known as the .
S (YIP) __ F AW W SIS 31
1. X-axis / X - &

2. Point / ﬁ'g’

3. Ordinate / Pife 3 &

4, Y-axis / Y - A&

Correct Answer :-

o X-axis /X - H&

42) Visualizations and drawing conclusion is achieved through the study of )

Fea IR YT PA s ¥ v & Areny | v fosan S 31
1. Analytical Geometry / IEESLNIRERSIEIR]

2. Spatial geometry / e sarfafd

3. Algebra / CISHILG]

4, Arithmetic / 3RO

Correct Answer :-



 Spatial geometry / T STt

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.
The area of circle is: / IqS T P! GATS 44 A §1 TS 3P <1 BR TP AU W$ AU &< B, 91 a8 g« F41a1
HECEIREL NS

1. 14 cm?/ 14 32
2. 44 cm? / 44 QA2
3. 154 cm? / 154 92
4. 28 cm?/ 28 2
Correct Answer :-

e 154 cm?/ 154 Q2

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

3 P JEAT & 3P| BTN 5 2| gfe T A T 9 U ST 8, a1 3/ 3y R ufkafdd o ad &, al
TS BT DTS 3P &

1.2
2.9
3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is ./

Ife T g &1 U au1 g rd SeTHES EU A I g, Aiga Pt s gl
1. 3 units / 3 3PT5
2. 1 unit/ 1 375
3. 4 units / 4 SPTY
4. 2 units / 2 IPTg

Correct Answer :-



. 2units/2§$r$:

46) “Let no one enter who is ignorant of mathematics” was stated by ./
«rforg | 3Afuy ®is W afeg A a w1~ GIRT g1 /T UT|

1. Thales / Jg

2. Pythagoras /ngzﬂTnW

3. Enchid / Q:Ilag
4, Plato /@T‘ﬁ

Correct Answer :-

e Plato/ el

47) The abscissa of the point of intersection of less than ogive and more than ogive is .

WW(OQW)@WHWWW@ W%Wﬁgaﬁ‘ﬂﬁ(abscissa)_%l
1. Mode / 9gdih

2. Mean / {1

3. Median / HTf&reRT
4. None of the above / SIRIad & ﬁ'ﬁc :l_sof

Correct Answer :-

e Median / ATfEIHT

48) Find the odd one out. /
fawm g

1. <

2. =

3.0

4. #

Correct Answer :-



49) Generalisation of Arithmetic is: /
SPITIO PT ATHRNBT g:

1. Algebra I ISIUG]

2. Probability/m

3. Statistics / iR

4. Calculus / Fepad

Correct Answer :-

« Algebra / oo

50) A single linear equation in two variables has: /
& W T AP BRI F1d §:

1. Maximum two solutions / & dH &l g

2. An unique solution / U sfgdaga

3. Infinitely many solutions / 3{<id g

4, More than 2 but less than 4 solutions / Eﬁ T 3fs dAfbT4 A HH Bd

Correct Answer :-
« Infinitely many solutions / 3=d g

51) 'Let no one who is unacquainted with geometry enter here' is connected with ./
I Wt safea st sfafa & eafifa g, weiwamr A Yy, S ddftasl

1. The Sophist School / Hifthe Ipdd

2. The Platonic School /WW

3. The First Alexandrian School / Ugcll Gﬁww
4. The lonic School / WW

Correct Answer :-
 The Platonic School /@?ﬁm@_ﬂ

52) Which of the following is considered as undefined term? /

frrafafad 3 3 A safyyita ug 7 T SITaT 82



1. Point/ﬁ@

2. Quadrilateral /ﬂﬂﬂﬁf
3. Circle /9

4. Prime Number / 3{HTST T&AT

Correct Answer :-

. Point/ﬁ_g'

53) The author of Lilavathi was: /

Hdradt & d@® -

1. Brahmagupta / Slgl{ [t
2. Aryabhatta / &rr!f“—rg'

3. Bhaskaracharya / UG
4, Ramanujan / XTHTIST

Correct Answer :-

e Bhaskaracharya / WA

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / af¢ P(3,-5) Td Q(-3,-6) 3! fagU §, 4t Q & P-ife &1 Y &:

1.0

2.3

3.-11

4.9

Correct Answer :-

55) CANCELLED

In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#A, £P=90° T PR & ALAMEG X 1 QR? — QX? & Il = gl



1. 2PX?
5 3PX?
3. 4PX?
4 PX?

Correct Answer :-

56) 3m6cm="7?/

3dev 6 Ot = 2

1. 3600 cm / 3600 I
2. 360 cm /360 THt

3. 306 cm / 306 THt

4.30.6 cm/30.6 9Ht

Correct Answer :-
« 306 cm /306 JH

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he
originally had ? /

T 3MTGH AT Y-RIRT HT Th-fagTs eR WA 8, fhT 10 TU Siiadr 8, 39P 916 fora=n & 391 va-fags
BR WA §, 20 ¥ SfiqdT 8, 3/ 3TF UTH a7 g U-R1RT 8 fRora-t sy o <ft | 39% ury ga «=af¥y farait
q?

1.Rs.12/ 12308

2. Rs.24 /24 309

3. Rs.48 / 48 34T

4. Rs.36 /36 30

Correct Answer :-
e Rs.48/48 304

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /



afe Y & S0 BT AFUTE 2: 3: 4 B, df TG DI 3R TTQ I8 BV & S BT 3R A B

60°
1.

400
2.

150
3.

pTjlL
4 20

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm , then its areais: /

ofe T G vy &1 Yo 12 9 §, a9 39T &% 8

1562

256v2

216V3

1293

Correct Answer :-

216V3

60)
Which one of the following expressions is false? /
fFafafaa & ¥ $1H-w e Tad 82

a)9999 <1000

b)1052<1025



€)958765>957865
1.Bothaand b/atTdbaHl
2. Only b/%ddb

3. Bothband ¢/bTd ¢ G

4. Onlya/aﬁﬁ'a

Correct Answer :-

« Bothaand b/aTqdbgHl



